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2019(Even)

Time : 3Hrs. Sem - I/11 (G)
Engg. Graphic

Full Marks : 30
Pass Marks : 12

Answer all 6 questions, each question carries 5 marks.
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All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
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The figure in right hand margin indicate marks.
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OR (3121an)

A square plane ABCD of side 30 mm is parallel to
H.P. and 20 mm away from it. Draw the projection
of the plane, when two of its sides are

(1) Parallel to V.P.

(ii) Inclined at 30 to V.P.
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Draw an isometric projection of a square plane of

side 40 mm.
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Construct an ellipse when the distance of its focus
from the directrix is equal to 50 mm and eccentricity

is % . Also draw tangent and normal to the curve

at a point 70 mm away from the directrix.
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OR (3121a1)

Construct a parabola with the length of base as 60
mm and axis 30 mm long. Also draw a tangent to

the curve at a point 25 mm from the base.
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